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A carrier signal C(t) =25 sin(2.512 x10'%t) is amplitude modulated by a message signal
m(t) =5 sin (1.57 % 10°t) and transmitted through an antenna. What will be the bandwidth

of the modulated signal ?

Options :
86435112151, 20 MHz

86435112152, 8 GHz

86435112153, 201 GHz

86435112154, 1987.5 MHz

Question Number : 1 Question Id : 8643514051 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

215 53143 [H21d C(t) = 25 5in(2.512 % 1010) A 245 2z21 Riod m(t) = 5 sin (1.57 x 108t) g1l Sz
(oA 53l Bl g iRl s2eusl 204 8. AR (Hsyals) Bedadl o-s-<la (band width)
seddl ¢l

Options :

86435112151, 20 MHz

86435112152, 8 GHz

86435112153, 201 GHz

86435112154, 1987.5 MHz

Question Number : 2 Question Id : 8643514052 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2/87



3/18/2021
Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
|| ||
Il

Options :

86435112155.

86435112156.

86435112157. -

86435112158.

Question Number : 2 Question Id : 8643514052 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2F 2 E svecll emf 24 2453 1 24 1, oAl 225 249314 Q31T A S cusL 214 R 2 Sl
rl S 2U9d 8 (25 sr2ll). u=d Sl e[ alA Az RRAHIAAL dsled 21 A d |2 R « Yy

_ .
2E E
¥ |
" !
AAAAA
R
Options :
5
86435112155. =
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r&l:.

| I'z
86435112156.
r T
86435112157. ' 2
T, r2

86435112158.

Question Number : 3 Question Id : 8643514053 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms 1 along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435112159 Y(x, )=0.03 [ sin 5.1x— (0.2 x 109)t ]

Y(x, t)=0.03 [ sin 5.1x — (1.5 x 103)t ]
86435112160.

s e e e .
86435112161, Y& 9=0.06 [ sin 5.1x— (1.5 x10°)t ]

IR _ g
6435112162, Y@ §=0.06 [ sin 0.8x— (0.5x10°)t ]

Question Number : 3 Question Id : 8643514053 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
245 Hz 2ud[r d219g 245 eal 220300 ms 1l 2364 218 ad x84l Brmiold 52 9. diad g5 (G
AL WUBN 2 56 6 cm 5724 2idR SIS, DAL UMl d99L qi el 32 2 el )

Options :

Y(x, t)=0.03 [ sin 5.1x— (0.2 x 10%)t ]
86435112159

Y(x, t)=0.03 [ sin 5.1x — (1.5 x 103)t ]
86435112160.

s G 5 v \
86435112161, Y& §=006 [ #in 5.1x— (1.5 x10°) ]
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e eI a
86435112162, Y& 9=006 | sin 0.8z = (0.5x10")¢ |

Question Number : 4 Question Id : 8643514054 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A geostationary satellite is orbiting around an arbitary planet ‘P at a height of 11R above
the surface of ‘I, R being the radius of ‘P". The time period of another satellite in hours at a

height of 2R from the surface of ‘P’ is . 'P" has the time period of 24 hours.

Options :
86435112163, 2

86435112164, V2

86435112165,
6
e
86435112166, V2

Question Number : 4 Question Id : 8643514054 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s ool Guag (Heaude) »is welis u¢ Pl wwdledl 11R svedl Glad=i uhanel 52 8, sl R »l
A¢ P’ Al Bett . ‘P Al wuladl 2R seedl Gludl uRermel sedl eflsd Guangdl sasil 2uedsin
€2l ‘P Al 2Udds19 24 sAls ©.
Options :
86435112163, 2

86435112164, V2

86435112165. 3

6
N
86435112166, ¥ =

Question Number : 5 Question Id : 8643514055 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving with a speed v along the line joining A and B collides with A. The maximum

compressinn in the sp rf_ng 15

o
s

C
m |—» m LY Y Yy ol m

Options :
| m
o
86435112167, ' 2K
- m
86435112168, V2K

\/mt:
86435112169.

86435112170.

Question Number : 5 Question Id : 8643514055 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BXSm EULAL O HHIA UL A 2B A L el Jglds dond 214 K svedl R3io1 2iuais ariadl ¢asl
(3001 WA sddell ©. m 50 AuAd @A A A B A sdsedl Yol wr v svedl 254 diad 2is lsf diug C,
UHAL A U Held 2A4MA ©. RIPEE Gougt ey Hslud a3l

C A B
m — m | LYY Y vy m

Options :
| m
I—
86435112167, ' 2K
- m
86435112168, V2K
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—_—

|| muy

86435112160, ¥ K

mo

86435112170.

Question Number : 6 Question Id : 8643514056 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring
constants K; and K, respectively. If the maximum velocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
K1
KE
86435112171.
Ky

f
&2
86435112172. VK2

.Kz

86435112173. 3

. SR

IKE

s

VK
86435112174,

Question Number : 6 Question Id : 8643514056 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LA EOUL B3l 0L 581 A 24t B A 80z 2 25 K 21 K, R0 2amist auadl o Rt <8
Sl 2L B, ol Eldel EdIA HéH AL MU €M, dl A 24 B AL SuladirAl gelidz

il
Options :

&l

KE
86435112171.
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K4
Kj

86435112172.

.Kz

Kq
86435112173.

K,

s

86435112174, E

Question Number : 7 Question Id : 8643514057 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11

List - 1 List - 11
.TI'
(a) TPhase difference between current and voltage (1) X current leads voltage

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i) zero

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii) g; current lags voltage

a pure capacitive AC circuit

(d) Phase difference between current and voltage in (iv) fan

an LCR series circuit
Choose the most appropriate answer from the options given below :
Options :

26435112176, @i, (b)-(iv), (c)-(iii), (d)-(1)
26435112177, @) (B)(iid), (c)-(), (d)-(v)

26435112178, @)r(i), (b)-(iii), (c)-(iv), (d)-(i)
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Question Number : 7 Question Id : 8643514057 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el - 1Ayl - 11 2 Al

29l - 1 il - 1
-, ’ - .TI' - -
(@) LA/ 55 2AARIA sl AC YRMEHL Melle A (M o dlelerdl 24101

el sy G2 501 dsleld
(b) 28/ 550 Hesser Galedl AC YRvAH (i) 2L
Ul 24 dlesy G2 501 dsled

m

(c)  wea/ 55 sualer aradl AC wRvaMi (i)

Ul dlederEll wsn

Wells 24 dliesy 922 501 dsled

; st iEpags 1{ Xc
(d) LCR #ell uldasl nee »id dicdsr o234 saldsiad (iv)  @an f{“—

A1 2 (Aseninisl Wil 44 4 erien wRiE s30
Options :
Lrh-h-r -1 rd"“
g6435112175. @) (B)(iii), (c)-(iv), (d)-(ii)

26435112176, (@), (b)-(iv), (c)-(iii), (d)-(1)
26435112177, @r D) (b)-(iii), (c)-(), (d)-(v)

26435112178, (@)-(1), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 8 Question Id : 8643514058 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What happens to the inductive reactance and the current in a purely inductive circuit if the

I requency is halved ?
Options :
86435112179 Inductive reactance will be doubled and current will be halved.
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R6435112180. Inductive reactance will be halved and current will be doubled.

86435112181, Both, inductive reactance and current will be halved.

86435112182, Both, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643514058 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g5l Gessila ubuel 2ugl wiel sl dessla viaonad o 49l 7
Options :

26435112179, DSSElA MU MGl URL 2 el 2L 28,

AT i 5 n i, "y ¢ a“.. = ,
26435112180, Pl AU DLSEL UL DA UAdlS oMLl U3l

ofgl, Bl PYOUE 2 UAlE 2LSHL UL
86435112181.

Olgd, Hessile BIOUE 24 Uald CLHeLL UgL
86435112182.

Question Number : 9 Question Id : 8643514059 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A sphere of mass 2 kg and radius 0.5 m is rolling with an initial speed of 1 ms ~! goes up an

inclined plane which makes an angle of 30" with the horizontal plane, without slipping.

How long will the sphere take to return to the starting point A ?

A 30°

Options :

86435112183, 00 s

86435112184, 027 s
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2
86435112185, V02 S

86435112186, 000 S

Question Number : 9 Question Id : 8643514059 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 kg &0 Gbdl 244 0.5 m Al Bisedl aziadl 2is o0, #Eldss dude Wel 30° -l 5181 918dl ¢l
UHAd (elouet) ¥ 1 ms— el w3lts 2w il das Feus Guz dzg 2o 9. o dedl 2l wiles
[G15 A 42 WL $3cdl Seel My 4L )

% 30°

Options :

86435112183.

86435112184.
86435112185.

86435112186

Question Number : 10 Question Id : 8643514060 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to ﬁ of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~2)

Options :

1
86435112187, 2-0 ms

1
86435112188, 220 ms

11/87



3/18/2021

1
86435112189, 30 ms

1
86435112190, >°0 ms

Question Number : 10 Question Id : 8643514060 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 5 m GlRaduiEl sis 2ol 861 Yol S22 B, o 525 v o erel Gludiel yad 52

SR , e g i
& d-zl o svedl Glaud yell yaalda A Gon 8. sl ML 284 WAL

(g=10 ms 2 Al)
Options :

1
86435112187, 2-0 ms

1
86435112188, 220 ms

1
86435112189, 3-0 ms

1
86435112190, 22U ms

Question Number : 11 Question Id : 8643514061 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v =0, + gt + Ft. Its position is x=0 at t=0; then its displacement
after time (t=1) is :

Options :

IJ{}IEIF
86435112191, 2

y q
86435112192, Yo t2g +3F

o

(R [ =]
W

86435112193.

86435112104, 0 T8 TF
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Question Number : 11 Question Id : 8643514061 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As AL Pl =0y + gt + FIZO. dt=0 AHLUAx=09), cll (t=1) A4l 2 222

931,
Options :
vy 4 B +F
86435112191 2
y q
86435112192, Yo t2g +3F
F
o | E f —
2 3
86435112193.
86435112104, 08 TF

Question Number : 12 Question Id : 8643514062 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A hairpin like shape as shown in figure is made by bending a long current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the
semicircle ?

)
- f"J'
P Ezzil
I
Options :
pol
o,
86435112195, <7r
ol o\
.
86435112196, <7
pol
86435112197, *7F
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.i}l(a )

86435112198, 47T

Question Number : 12 Question Id : 8643514062 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25 dletl MeleallRa dirA il ¢l 2uszul 2l satiea el Ansmi 204 9. AagaHi
Geg, 2410101 2L (615 P 20010 oaslH a] we Sed ¢dl )
I

.*"'T
P'.. 3]

bl — m

86435112195, 27T

Options :

‘ol

RO 2+ 4)
86435112196, 27T

nal

o [ ST
86435112197, 4™

pol

P Sl
86435112198, =TT

Question Number : 13 Question Id : 8643514063 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?

Options :

86435112199, [aschen series

86435112200. Balmer series

86435112001, yman series
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86435112202, brackett series

Question Number : 13 Question Id : 8643514063 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el el Sier syal-syal Aellail auddl aeive Gouddd 53 8. ey eifgler-l 59 2l 2y
us1zl [eRH 284 © 7

Options :

86435112199, et Acll

o H2 #ell
86435112200,

Al Al
86435112201.

oibe Hell
86435112202,

Question Number : 14 Question Id : 8643514064 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies ..'Irl and I_.Irz respectively. If the

velocities of the photo-electrons coming out are vy and v, respectively, then

Options :
. : i
T — U = [;1[..{1 .fz]}_
86435112203. =
2 2 2h
7 —% = —1f1 —fl
86435112204 m
2} <
) +0p = [;1{..{1 ' fz]}_
86435112205. m
21
o7 +v3 = =fs +fo
86435112206. =

Question Number : 14 Question Id : 8643514064 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o ASUHIA SLLBULS 25 f; 2L f 24l SRIAAL U510 AL 52 D, AR 2l §lel- S sglrnl 2453
Ul v ’ B Uy Gl dl,

Options :
)| <
N 2
Py — T = [?Url I'rﬂ}
86435112203. -
7 7 2h
v —v = —1f1 —fl
86435112204, m
5 1
™ +0p = [h—‘l[.ﬁ ' fz.]}_
86435112205. m
21
o +03 = =fy +fo]
86435112206. m

Question Number : 15 Question Id : 8643514065 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

[0
L
—-

A

B
Options :
86435112207, AND Gate

86435112208, NAND Gate

86435112209, NOR Gate

86435112210, VOR Gate

Question Number : 15 Question Id : 8643514065 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
16/87
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Al 20 [Asedl U5l sdl 215 [Asew 2uid WAl 2ublye 9 7

AT FL:)O
| 4
—

B
Options :

AND 3l
86435112207.

NAND 3¢
86435112208,

XOR ¢
86435112209.

NOR 3
86435112210.

Question Number : 16 Question Id : 8643514066 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer
of 15 (1 resistance is connected across BD. Calculate the current through the galvanometer

when a potential difference of 10 V is maintained across AC.

Options :

86435112211, >34 pA

86435112212, 244 mA

86435112213, +87 pA

17/87
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86435112214, 187 mA

Question Number : 16 Question Id : 8643514066 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25 eedlerdin Crordl U oadaAiAl 243 2U5(AH1 iUl Yorer ©. 15 O 2a21E Bzelg 215 ded-iEler
BD A #Hid2 sdseidl 20 9. AC A Huidz 10 V Al BAlaunAl astad sansl 20us™l 2ud oz
Sleatidler izl Al naie aLel :

Options :

86435112211, >34 rA

86435112212, 244 mA

86435112213, +87 pA

86435112214, +87 mA

Question Number : 17 Question Id : 8643514067 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12 cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :
s6435112215, 116X 10% kg 57

] 2 1
86435112216, 0097107 kg s
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T 3 1
86435112217, >/ * 107" kg's

2 1
86435112218, 2 <107 kg s

Question Number : 17 Question Id : 8643514067 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 kg 501 a1l 2lualA (30041 a8l 12 em sred [0S Suleraral slad szami 204 9. 2 (ki
2id SR sl 6 cm UM O, A S AHHEA 2N H9dl (In 2=10.693 @)

Options :

’ ] 1
86435112215, 107107 kg s

3 2 1
86435112216, 09 %107 kg s

ri 3 1
86435112217, 2/ <107~ kg's

2 1
86435112218, >3 107 kg s

Question Number : 18 Question Id : 8643514068 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one mole of the polyatomic gas is having two vibrational modes and { is the ratio of molar

LB
specific heats for polyatomic gas ([:‘: = (__PW then the value of 3 is :
8 L

Options :

2
86435112219. R

1.2
86435112220.

86435112221, 1-3°

86435112222, 1-02

Question Number : 18 Question Id : 8643514068 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

19/87
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Correct Marks : 4 Wrong Marks : 1

25 Wi AR AR oL 5uA Hisu 8 2 B 2L cguzreld a-L (AR G-l wiar geir

[ﬁ:g—ﬂ 9, dlp -4 4 ¢

V)
Options :

1,25
86435112219.

86435112220. L

86435112221. 1.35

86435112222, 1-02

Al

Question Number : 19 Question Id : 8643514069 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

+
T «— adiabatic
P
isothermal
(a)
v—>
F 3
T e isothermal
\'u'
adiabatic
(c)
T—»
Options :
(a) only
86435112223. =

86435112224, () and (c)

(d)

’

P

/ : isothermal

adiabatic

-
r

Wy —

e

isothermal

o ]

9/

T—>

gt

adiabatic

W

T—
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86435112225, (©) and (a)

86435112226, () and (d)

Question Number : 19 Question Id : 8643514069 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

of sysl-syal AisAlis Ui qE 54215 [[sed WUl © )

T | — 2l T g el
! s

(b)

(a) ~Efi Hull

>
vV—>

W

T—>

¥ N ¥ .
c HHAM
T —— H{Hcd L T
vV P \—)
(c) (d) R
] r#ﬁ,,»’/ 8 5
\x“ﬁiii HH |
T—> T—>
Options :
$5 (a)
86435112223.
(b) 44 (c)
86435112224.
() i (a)
86435112225.
() 21t (d)

86435112226.
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Question Number : 20 Question Id : 8643514070 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An object is located at 2 km beneath the surface of the water. If the fractional compression

T is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm 3 and g=9.8 ms 3.]
Options :
. - %
86435112227, 1.96>10” Nm

-2

86435112228, 144 %107 Nm

[}

. fa]
86435112229, 226107 Nm

86435112230, 1-44x10° Nm~2

Question Number : 20 Question Id : 8643514070 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 g welll qudl-l 12 2 km 2id3 8o 9. ot Uslud »ial v A1.36% €, ket Mleion i

A=t 2U44ibLs dzd [Egld-l gelidz 23,
[ welll adct 1000 kgm ~3 24 g =9.8 ms 2 24Ud 8. ]
Options :

86435112227, 1:96% 107 Nm ~2

]

86435112228, 144107 Nm

]

: fa]
86435112229, 2-26>107 Nm

3

(_] 2
86435112230, 144107 Nm

Physics Section B
Section Id : 864351272
Section Number : 2
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351272
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514071 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 pF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the
battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C »on equilibrium condition is nC. (Round off to the Nearest Integer)

5
1 .\52

10 V] & G,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514071 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 pF gaidd 245 C Aelrs Al uv ol 48 10 V AL Ralduid dgiad <8 [Beaeudld sami 204 9.
cROALE Gl 52 5L 2 D 2 dersl ollod 8 pF AL [Bggamir 2léd C, i sdsani 20 9.
Hdad Baldul G, adl [Ayamer pC &2l (A29sc™ yelisul duil)

5 £
31 Sy

10V C, Ca

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514072 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is _ N. (Round off

to the Nearest Integer)
[Take g =10 ms 2]

W
M

W
M,

A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514072 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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4 kg 50 4ddl 215 9153 5 kg 50 GGl AsSIAL ¢58L G Goll 8. ol sl A el 4z
MBS 4 0.5 ¢, dl sl ¢s8l dictirt 2l vt Adl ded SR80 w2 915 g1 @l HedH
o N ¢2l (A95c yeulsul avil)

[g=10 ms 2 dl]

W
M,

W
3

&
*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514073 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at E of the distance of the object from

the surface. The wavelengﬂ1 of Iight inside the surface is — times the wavelength in air. The

3

. - - ;
radius of the curved surfaceis — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 23 Question Id : 8643514073 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

et [@olin wrialda 2wl gL eamit weld dxgqd aralas ulalie audldl wen 10 m 2idz v-ud 9.

N : R s ; s :
nlaleior uzalas © i wudlell dag- vide- 5 MRe. Al @iz ustaidl aidend gl

cLdons sl 4 el 8. sl Boca % m 8. ‘¥ 4y 9.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514074 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

x
1‘45 E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514074 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25 100 W AL A g1 Getodetl [AB301 513813 m 2dd? [AYd gl dldlE 9. 60 WAL etest g1t

.. & s
EE B, sl x o Y™ 9.

Gratmicl ElzeiA 51361 3 @it [[yasiadl dlaal \|'J

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643514075 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity E=8[]€n and resistivity

p=10.25 dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10" times the displacement current density after time t = ﬁs. The value of x is

(Given : = 9 x 10 Nm*C™?)

—1-".'!'1:'{]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514075 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

slaAl wellHl f=9 x 102 Hz 2ugfa2d uzdlldlél e = 80e, 244 244318501 p=0.25 Om &, 245 ¥Hidz
vele FUler (ars) A el wellai goundd (Rl 244 d V(L) =V, sin2mft) svedl Geeyele dicsy

Grarwel Sy . dl t= —— 5 YUY GIE dles (conductor) HAleg E-dl 24 displacement Ml

800
Bedidl 2l 10% 9, x « Y& %3l
( L — 9107 Nm2C2 =il )
—1-’.'!'!:‘{}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 26 Question Id : 8643514076 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— 2 .’:-_ ?’I‘ .f:-. . ’
The electric field in a region is given by E = EE{}; I EE{}; with Ej = 4.0 x 1[}3%. The

flux of this field through a rectangular surface area 0.4 m2 parallel to the Y~ Z plane is
 Nm2cC L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514076 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. ; e o s @ . - “ - LY
215 [Erardi [Bgdss E = sEoi + ZEoj; ol Eg = 4.0 1[1-*% 2AMA D, 21l §A 5181 0.4 m?

o #5150 BUAAl A Y — Z UHAGA Az 25 derdizy wueluisl wur ug sasu

Nm2C 1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514077 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The disc of mass M with uniform surface mass density ¢ is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

g | w
A |

ra x
3w 31
X is . (Round off to the Nearest Integer)

|a is an area as shown in the figure ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514077 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25 AL UHPLEA M 21 o el 9wl sl audl 215 dlsd saidd 8. 215 e dlsa (2ueoilEd

[Bietiz) ol gt 3 2 [% = g % EW dx 9. (o5 ’g}eﬁﬂl Auil)
. 1 i )

[a 2 25l culdd #aga.]

29/87



3/18/2021
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643514078 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction —. It is desired to make the bod}-' move b}-‘ appl}fmg the minimum pns:ublr_- force

V3

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514078 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg £ ariedl s 2w Biler oliaalen Guz @r Wdl & % vl il B wiels % 3. gl

F N svedl 254 dgrd o apldld old szl erzdl 9. F o e ¢l (AT yelsui
duil) [g=10 ms 2 di]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514079 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A particle of mass m moves in a circular orbit in a central potential field U(r) = Uyrd. If

i
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with ne , where

o 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514079 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

m £ ARGl 245 58U 5gl1 BAAA U(r) = Uyr? 212 dsn aduusi seiold 52 8. st otz sell-ealszel

el @) 52l 2419 ol 254 sl Blaciil 1) 21 ne 24U e 8, sl o .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514080 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 cm? of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

1
3 el
radius {—1 x 10> cm. Then the thickness of oleic acid layer will be xx 10~ m.
|8 4

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643514080 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

RS e 2lilas iR 219 e gl 200 8 5 seodl 2iiles UL gl digdl 0.01 em® Ul em?

1
3 a3 P10 : N T, %
B, dd ¢d [—| <107 cm. sl 100 2lousi Cigiid @da 241 gl 4 cm? gago s1adl

wiaotl (215 2iedl sdsid4dl) sl ei-tel 9. dl 2lilas 2ol 24l sas1d 1< 10714 m 2l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351273
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351273
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514081 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435112241, N3
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86435112242.

03
86435112243, -

Cl1,0
86435112244. =

Question Number : 31 Question Id : 8643514081 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL sl s, 2dladlor 5 o7 el © o 208l
Options :

86435112241. s

86435112242.

03
86435112243,

L

i
86435112244. =

Question Number : 32 Question Id : 8643514082 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

C) Nyg) + 3Hy(g) — 2NH,(g)

(D) Adsorption of CO(g) on lead surface.

]

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :

86435112245. kAR i) ol () onty

86435112246, (&) (€) and (E) only
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86435112247, (A) and (E) only

86435112248, (D) and (©) only

Question Number : 32 Question Id : 8643514082 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al2L AL WsHL B S 2l aeel 7
(A)  0°Cuz, welluigl ezl slzel ug
(B) 10°C 4z, wellaizl sizsul szl ug
(€) Ny(g) + 3H,(g) — 2ZNH;(g)
(D) ds #uill ur CO(g) 4 21Eaime
(E) Wi NaCl  2ii21g (Dissolution)

A2l Al [Asediial 1l sedled yds 530

Options :
86435112245, ¥51 (A), (B), (O *41 (D)

£ e
86435112246, Bl ) NC) TELEE)

86435112247, 351 (A) #L(E)

L =
86435112248, 1 (B) 211 (C)

Question Number : 33 Question Id : 8643514083 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :

Options :

24
86435112249, D2

b
86435112250, V@

POj
86435112251,
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SO7
86435112252,

Question Number : 33 Question Id : 8643514083 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Beleus Hld o 268, A2 2el wlailmial 59 Wil qaz wguel wl (flocculating power)
g 9 7
Options :
BaZ*

86435112249.

a
86435112250, V@

POj
86435112251,

SO7
86435112252,

Question Number : 34 Question Id : 8643514084 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set of elements that differ in mutual relationship from those of the other sets is :

Options :

86435112253, Be - Al

86435112254, B~ S

86435112255, -1-Na

86435112256, i~ Mg

Question Number : 34 Question Id : 8643514084 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ceellAl #¥Hzad % o7 oflad H32UY (He) 2l 2442 D d WAL
Options :
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86435112253, be - Al

86435112254, B =S

86435112255, 1i-Na

86435112256, -~ Mg

Question Number : 35 Question Id : 8643514085 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) Haematite () AlLO;xH,O
(b) Bauxite (ii) Fe,O4
(c) Magnetite (iii) CuCO4Cu(OH),
(d) Malachite (iv) Fe,O,

Choose the correct answer from the options given below :

Options :
86435112257, @k(1), (b)-(iii), (c)-(ii), (d)-(iv)
86435112258. (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)

86435112259, @)-(1v), (B)-(i), (c)-(ii), (d)-(iii)

26435112260, @)-(1), (b)-(iii), (c)~(1), (d)-(iv)

Question Number : 35 Question Id : 8643514085 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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JES D I | T

Wl -1 Wl - 11
(a) dHede (i) ALO;xH,0
(b)  olissusde (i) Fe,O,
(c) ol (iiiy CuCO5-Cu(OH),
(d) wHaside (iv) Fe;0,

A12 200l [Esedinizl Al sesel yas .
Options :
26435112257, (@F(), (b)-(ii), (c)-(ii), (d)-(iv)

86435112258, (@)-(i), (B)-(3), (c)-(iv), (d)-(iid)
86435112259, @)1-(iV), (b)-(0), (c)-(ii), (d)-(ii)

26435112260, @)-(11), (b)-(iii), (c)~(i), (d)-(iv)

Question Number : 36 Question Id : 8643514086 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion
exchange resins, respectively, are :

Options :

SO,H and - NH,

86435112261.
86435112062, Hp and —COOH
NH, and —SO;H
86435112263 )
g6a35110064. ~ 20aH and — COOH

Question Number : 36 Question Id : 8643514086 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 2 A Bl AL 2 EAH el qe sedieriz Baelld quel 21454 Al
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Options :

SO,H »i1- NH,

86435112261,
86435112262, N2 » —COOH
s6435112263,  H2 it —SOH
86435112264, ~ SOsH 1 —COOH

Question Number : 37 Question Id : 8643514087 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH 1
86435112265. 4

Ca(OH),
86435112266. Py

86435112267, 3¢k

86435112268, VAC03

Question Number : 37 Question Id : 8643514087 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hled WsH £33 NHy Wi Aol avid sl 215 Gu-Ugiel il
Options :

86435112265. NHCI

Ca(OH),
86435112266. z

86435112267, 3¢k

86435112268, VA C03

38/87



3/18/2021

Question Number : 38 Question Id : 8643514088 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :

sea3s112269, O ond N

86435112270, 120 and NO,

86435112271, VO and NO,

N,O and N,O,
86435112272. = G

Question Number : 38 Question Id : 8643514088 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el WYY (He) & o Aglerd Al ez 2SSl 2 gld © o 2L,
Options :
86435112269. bt -

N-,O 244 NO,
86435112270. = £

86435112271, NO 11 NO,

N,O 21 N,O,
86435112272, ~ e

Question Number : 39 Question Id : 8643514089 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The common positive oxidation states for an element with atomic number 24, are :

Options :

86435112273, T1to +6

86435112274, t2to +6

86435112275, F1and +3to +6
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86435112276, T 1 and +3

Question Number : 39 Question Id : 8643514089 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YLHIEEHIS 24 AL 245 el Mzl e 2[5 2l 2UaL

Options :

s6a35112273, +1 4 +6
86435112274, T2 4l +6
86435112275, | 1wt 34l +6

86435112276, 1 ¥ +3

Question Number : 40 Question Id : 8643514090 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHj)g] [Cr(CN)g (i  Linkage isomerism
(b) [Co(NH,); (NO,),] (i) Solvate isomerism
(c) [Cr(H,O)6]Cl, (iii) Co-ordination isomerism
(d) cis-[CrCly(ox),]? (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
86435112277, (@)(1), (b)-(ii), (c)-(iii), (d)-(iv)

soiasi1az7g, @), (b)), (O-(i), (d)-iv)
86435112279, (@)-(iii), (b)-(i), (c)~(ii), (d)-(iv)

86435112280, @) (B)}-(iD), (c)-(ii), (d)-(i)

Question Number : 40 Question Id : 8643514090 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- T 2B YR - T A L

YE -1 Y- 11
(a) [Co(NH,)J] [Cr(CN)] (i) ol HHaesdl
(b) [Co(NH,); (NO,),] (i) slasBise uvaesa
(c) [Cr(H,0)]Cl (iif)  meol HHEL sl
(d) cis [CrCly(ox),? (iv) sl queesdl

A2 200l [Fsediial Wl seeel yads sl
Options :
86435112277. (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)

86435112278, (@) (i), (b)-(0), (¢)-(iii), (d)-(iv)
86435112279, (@)-(iii), (b)~(i), (c)-(ii), (d)-(iv)

86435112280 @), (B)-(i), (c}-(ii), (d)-(1)

Question Number : 41 Question Id : 8643514091 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435112281, (A) only

86435112282, (B) and (D) only

86435112283, (©) only

86435112284, (D) only
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Question Number : 41 Question Id : 8643514091 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HulMeL (eutrophication) Al Useiui 2 2uudmizl 54 B g (e) 87
(A)  dRiAlL 92 sl Guaia

(B)  MEEsAL 942 Ysdl Gyl

(C)  welldl »igz (diez eiiél) aqzula-l lud

(D) well (e esl)ui dins dedltl 2ieud gl gfEtami 2eia

{12 2a [Asedinigl disl 4y Sl sesuet s $3L,
Options :

86435112281.

L ™
86435112282. ¥4 (B) 1 (D)

86435112283,

86435112284, ¥t (D)

Question Number : 42 Question Id : 8643514092 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Nitrogen can be estimated by Kjeldahl's method for which of the following compound ?

Options :

86435112285. T

86435112286. CHp —NH,
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86435112287. N

+
86435112288, ~ N=NC

Question Number : 42 Question Id : 8643514092 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al 2] 541 Helov |1 srested WEAd 4l Aldgler-d WEa U 2 © )

Options :
86435112285. By
86435112286. CHy—NH,

fj

e,
86435112287. N

- + - —

86435112288, ~ N=NC

Question Number : 43 Question Id : 8643514093 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :
86435112289, (4) only

86435112290, (B) only

86435112291, (&) and (C) only

86435112292, (B) and (C) only

Question Number : 43 Question Id : 8643514093 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gogdl srgiriellziid e you () AL
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C€) AgNO,/KNO,

(D) Agl/KI

Options :

L
86435112289. )

[
86435112290. ¥ (B)

86435112291, 2

L
86435112292, °

Question Number : 44 Question Id : 8643514094 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 : 2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,.
Choose the correct option :

Options :
86435112293, Both statement I and statement Il are correct

86435112294, Both statement 1 and statement Il are incorrect
86435112295, Statement I is correct but statement 11 is incorrect

86435112296. Statement I is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514094 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{12 o [Feudl 2 ¢
[ 1: 2-(udd o3eq Guz KMnO, o 205482 s3dl d 2-Biandd oo -2-241q 204 ©,
(4wt 11 n2A1esl KMnO, A8 el e 2uestéladl uadi] 2Als3iaq wi 9.

SN CELSTRTE PR
Options :
1[4 g T . =
96435112203, et [enet, 1 20 (e 11 20l o,

86435112204 EPIER ETERCEIER I RER )

5 e a1 [Fis - -
86435112205, LAt 1 4% © ueL Bas 11 vilg .

1k T o 5 it S
86435112206, At 1 ¥lg © vt R 11 ©.

Question Number : 45 Question Id : 8643514095 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statement regarding the formation of carbocations A and B given.

e
> CH:.!_ - CH2 - CHI o CHE + Br—
II’.I'AJT

CH;— CH,—CH=CH,+HBr

+
» CH; —CH,—CH—-CH;3+Br™
o 'B LEs
Options :

86435112297, Carbocation A is more stable and formed relatively at slow rate

86435112298 Carbocation B is more stable and formed relatively at slow rate

86435112299 Carbocation A is more stable and formed relatively at faster rate

86435112300, Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643514095 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

+
» CH3; —CH,—CH>—CH, + Br™
.I'.I'AH'

CH;—-CH,—CH=CH,+HBr

+
» CH; —CH,—CH—-CH3;+Br™
—’:Br.f

Horr WHAL 516115204 AL A 21 B Al 2iseiui w0 [Sen wde sl
Options :
86435112207, SIS A of R © it o gl 4l & Us/4 WA 8.

86435112298. 515 B 94y 2z © 24 o AsHL i 82 Usid W 9.

= = T -‘1 . = - - . 'x.
26435112209 SLUSA A gy (U S 2 d MlsH 200l 52 Hedd WH O

T3 = . W Y " =, r a
86435112300, SClst B aY (323 © 2 o HdEAl ol 53 Hed W 9.
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Question Number : 46 Question Id : 8643514096 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CraHypOpy +HyO —22 2 CoH 0 +CoHyppOp
Sucrose Glucose  Fructose
CgHy 0 —22me3 , 2C,H;OH+2CO,
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435112301 nvertase and Zymase

86435112302, Zymase and Invertase

86435112303, Invertase and Amylase

86435112304, Amylase and Invertase

Question Number : 46 Question Id : 8643514096 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl agslos 412
Ce1205 _ Sl 2C,Hs0H+2C0,

g 51o8

Guaddl ubmin Geaus A 2 Gedus B 259 2l
Options :
Hreidn 2 2143

86435112301.
86435112302, B 2t Srailas

86435112303. Grelin 2 A

sz smop
86435112304, PP 2t il
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Question Number : 47 Question Id : 8643514097 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,4

(A)

In the above reaction, the structural formula of (A), “X" and “Y" respectively are :

Options :
N, OCHj

H H
" :(J: H

86435112305. Cl
N, OCH,
T
r  CH3—C-H, HO
86435112306,
1 Cl—
Ii :}{
OCH,
86435112307, .
S
T
,  CHy-C-H , Hd
OCH,
86435112308,

Question Number : 47 Question Id : 8643514097 Question Type : MCQ Option Shuffling : Yes Is Question
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Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,

C,H,N,OCl + C,H;OH —» Ny +“X" +“Y"
(A)

Gurdl uBHBHL (A), “X7 24 “Y” Al cieuzelld Yot 214534 WAL

Options :
N; OCH;
H H
H D ‘H - HCI
86435112305. Cl
N, OCH,
T
+  CH3—C-H, H)
86435112306,
1 Cl—-
Ii :}{
OCHj,
86435112307. :
S5 v
T
+  CHy—-C—-H , HA
YCH
86435112308. OCH,

Question Number : 48 Question Id : 8643514098 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435112309 Chloroform and KOH

86435112310, benzene sulphonic acid

86435112311 para-Toluene sulphonyl chloride

86435112312, Acetyl amide

Question Number : 48 Question Id : 8643514098 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al Al Guriol s34 walis, Blaus 214 glads 20ud4l (@amines) 2101 (UEEA) wél 2514 © o
LAl

Options :

86435112300, YK 214 KOH

86435112310, Ut mesllas #iRus

-._::‘- _(5‘-.(:. F‘T . (_-4_5;‘ F‘r -L__::l- F‘r&l
86435112311, ireledo uGl-lled sale

> Ry e o
g6435112312. LRREA 21U

Question Number : 49 Question Id : 8643514099 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - 11

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (ii)  Artificial sweetener
(c) Sodium benzoate (iii) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435112313, @)-(1), (b)-(i), (c)~(iv), (d)-(iii)

86435112314, (@)-(L), (b)-(1), (c)~(iv), (d)-(iii)
86435112315, @)-(), (b)-(iii), (c)-(ii), (d)-(1)

86435112316, @) (1), (b)-(ii), (c)-(iv), (d)-(1)

Question Number : 49 Question Id : 8643514099 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

S ELE R | N

Y- 1 YE -1
Ao Walse Azl5 Guaia
(a) Ysldlx (i)  wirdld usuas
(b)  wels ARl Pauudd iy (i) 5B oA waEl
(c)  ilsun oleaiie (i) el
(d) el (Bithionol) (iv) e wRaasi

HiEl sl ws 5.
Options :
86435112313. (@)-(1), (b)-(i1), (c)~(iv), (d)-(iii)
86435112314. (@)-(i1), (b)~(1), (c)~(iv), (d)-(iii)

86435112315. (@)-(iv), (b)-(ii), (c)-(ii), (d)~(1)
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86435112316, @)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643514100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :

Options :

86435112317. Aldohexose

26435112318, Ketohexose

86435112319, Pyranose

86435112320, 11eptose

Question Number : 50 Question Id : 8643514100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g52ios 24 Al2lAHid 215 GErel 9 o 2l

Options :
AR EN
86435112317 i
(Bl sation
86435112318,
EEE
86435112319, AL
B3
86435112320, €'l
Chemistry Section B
Section Id : 864351274
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
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Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351274
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514101 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is _ 1021, (Round off
to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514101 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP Wz 20 mL sdlfat i sl il v 1071 8. (A5l yellsHi 2G - 2115

531)
[l @l s STP uz selfert 2453l Ay ©
R=0.083 L bar mol ! K1, N, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514102 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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KBr is doped with 10 5 mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

|Atomic Mass : K:39.1u, Br: 799 u
N 4 =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514102 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SrBro, Al 107 3id 251 28 KBr A 2124 adls (B szl 209 9. KBr #5(2s54i 1 g i SelAs sl
(srauil) Al dvayl 101 9. (A5l yeusHi 2G-s iy 52)

[y s : K :39.1u Br:799 u

N, =6.023 x10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514103 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%1071 BM. (Round off to the Nearest Integer).

[Given : /3 =173, 2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643514103 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z=26) -l o[% 2tazidi dld-55d Yasle wsHAl _ x10"1 BM ©.

(A5l YeusHi UG- 2iis 531)

(U4 : 3 =1.73, V2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514104 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K,Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is __u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514104 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 Add K Fe(CN), glel 04 [Hatisr 22t 919 8. e Gesan(eig efled glaeid quiq 9 5 o [Ayd

2 [A0lsed glod A AL 18.1 dsre 25l A 8, A o HidR 50 u 9.
(A5l yelsHi UGS s 531)
[wel-l addl = 1.0 g cm ™3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 55 Question Id : 8643514105 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N 504(g) —= 2NOs(g)- The temperature at which K-=204 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514105 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

N,O,(g) == 2NO,(g) A1 ednl dl. s41 divdid K=20.4 214 Kp=600.1 &4 d
K 8. (4951 yelisHi uG-s 21 1)

(el Al otel s il 24520 © 214 R=0.0831 L bar K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514106 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A KCI solution of conductivity 0.14 Sm I shows a resistance of £.19 Q0 in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 {). The conductivity
of the HCI solution is %x1072S m~ 1. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 56 Question Id : 8643514106 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ksl S04 014 Sm ! clgsel ddg KCl o gleel 419 O 2191 gid 8. sd 24l s sS4l HA

¢

SIABL SR 2 ol PARIEL 1.03 O e (A1) ot 8. dl HCT Al gttt sigsdl %1072
Sm 1Y, (A5l yellsHi uG-s 21is 52)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514107 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514107 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2A + B, — 2AB AL 2 215 AR (elementary) ML 8. 215 [ABad ubusil svzan w2, «d w1
YEtd 58 3 2A9MA (3 times) H2lsAHL 20 dl, WEUL dol 9ausl MY (imes) 42,
(A5l YelisHi UGS 1ig 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643514108 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted

in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514108 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH aziedi svedld gt FeCl, Al 208 2Ais(as 2AR sl ula 2l wlzews 2431 {luse A o Asi

2y 8, Alusr A Wi Fe «l (aloas dllovsdl 8. (A9l yelsui uG-s 215 1)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643514109 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C H,,0) is
to the Nearest Integer).

. (Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514109 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2R WA NaOH Al Ml audl sy odls dEeda 2isu8s (CH,0) vt 9. AlRedd
2{lsuIS sl C-C R ofa (al) -l 5o v 9. (A5l yellsui UG- 2l 521)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514110 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O
| q
S ‘ ‘
0.140 g 0388 g 0.210g
Consider the above reaction. The percentage yield of amide product is . (Round

off to the Nearest Integer).
(Given : Atomic mass : C :120u, H: 1.0u, N: 140 u, O: 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514110 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I
C
I
-+ Cﬁl 1_|:|N] lCéI |5 e CEHE_C_N_{CFJH.:}}E
0.140 g 0388 g 0.210 g
Guadl MG 2l dl 2uds Aluse Al Aluse esiaEl 23

(e vzl gl C:12.0u, H: 1.0 u, N : 140 u, O : 16.0 u, C1 : 355 u)
(A5l el G- 2iis 531)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
Mathematics Section A

Section Id : 864351275
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351275
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643514111 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . . e 1 i 2 i
The number of solutions of the equation sin 1[12 [ —} F cos 1[12 —1 = xz, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :

Options :

86435112331, 0
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7
86435112332, =
86435112333, 4

86435112334, [nfinite

Question Number : 61 Question Id : 8643514111 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sd [x] 24 x 2024l x &l AL HerH Yells salsy dloxe[ 1, 1] e wHlszel

- g i - ) i
sin "} [12 | %}  cos 1 [1‘2 %} — x2 A Giall v . -
Options :

86435112331, 0
7
86435112332, =

86435112333, 4

86435112334.

Question Number : 62 Question Id : 8643514112 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (pAq)®(peq) is a tautology, then ® and @ are respectively given by :
Options :

86435112335, "V

86435112336, 7+

86435112337. 7

86435112338, "

Question Number : 62 Question Id : 8643514112 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

05

ot ol 2ol (paq)e(peg) B Fcd-uct i, dl @ 24 o 21453
Options :

86435112335, ™V

86435112336. 7+

86435112337. 7

86435112338, "

Question Number : 63 Question Id : 8643514113 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— Fat M Fay — M A A
Let O be the origin. Let OF =xi + yj kand OQ =—-1 + 2j + 3xk,x,yeR, x>0, be

= it = ey
such that [PQ| = +20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,

—> =
z € R, is coplanar with OP and OQ, then the value of x2 + 42+ 22 is equal to :

Options :

86435112339.

86435112340.

|

86435112341.

86435112342, ¢

Question Number : 63 Question Id : 8643514113 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e

o s = - = __:’ .f:-. .f':. Fat . __.\—: i .f':. M -,
qRLS O Gorilag 8. ARl OP =xi +yj — k24 0Q =i + 2j + 3xk,x,yeR, x>0l

s tugsaey -3 B T e g s o
5ol [PQ| = 20 a2l ulEal Op =1 0Q AdU 8. sl OI

o

st o e
=3i +2j — 7k, ze R2 OP 2

=7 =, - = . =
00 el wWuddl €, dl x2+y2+22 o yeu 8.
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Options :

86435112339.

=]

86435112340.

|

86435112341.

86435112342, ¢

Question Number : 64 Question Id : 8643514114 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42 «x
of the matrix |4 5.2 y | is zero, then the value of k2is :
5 k z
Options :
86435112343, ©
12
86435112344,
86435112345, 20
86435112346, /2

Question Number : 64 Question Id : 8643514114 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4.J2

X
o x, y, z 2 WAL gl d ol HuiarR Aelll €, sl x 2 3d 2 RS |4 502 o | AL [Heuus
B k z
Ut S, ol K2 e 5.
Options :

86435112343, ©
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86435112344.

86435112345, -

=]
g

86435112346.

Question Number : 65 Question Id : 8643514115 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(w co 52[]]

The value of the limit lim

- - is equal to :
8—=0 sin (2w sin™0)

Options :

1
86435112347, 4

1
;
86435112348. 2
1
86435112349, 4
0
86435112350.

Question Number : 65 Question Id : 8643514115 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. tan{sr L‘nr-.zﬂ‘_l
lim - g =
8—=0 sin (27 sin”0)

v

Options :

| =

86435112347.

k2| =

86435112348.
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1
86435112349.

86435112350.

Question Number : 66 Question Id : 8643514116 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
10(gin 27 x]

Bl dx =ae” !+ Pe 2+, wherea, [3, v are integers and [x] denotes
0 e

If the integral

the greatest integer less than or equal to x, then the value of «+ 5 + v is equal to :
Options :

86435112351, 0

0

=l

86435112352.

]
=

86435112353.

86435112354.

Question Number : 66 Question Id : 8643514116 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

™
m
Fa| =

o Jm[si_n 2arx |

M=y Fy, sl o, B,y Yelsl & 2 [x] 21 x 2iel x Al Al
e

Herd yells s 8, dl atB+y =
Options :

86435112351. 0

0

=l

86435112352.

]
=

86435112353.

I3
o

86435112354.
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Question Number : 67 Question Id : 8643514117 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

2(x? xﬁ'g*]dy y(x X}"*-‘]d:1'= 2x/4 dr, x > 0 which passes through the point

4
(L 1 3 loge 2] , then the value of y(16) is equal to :

X

Options :

4('— % log, 31
86435112355, ' 5

731 8
kWO s NN
86435112356.

(% I —Ingﬁﬂ
86435112357, * © /
4 8= I —Iﬂgﬁfﬂ
86435112358. g

Question Number : 67 Question Id : 8643514117 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol a5 y=y(x) 9L Bsa 2llszel 2(x% + 274)dy —y(x + ¥4) dr = 204 dx, x >0 -l Gt i,

—— 4 . g
d [ (1,1 -;IngHEJ il Wk L €y, dl y(16) =
LN -

Options :

4(£ 2 log, 31
\, 3‘ 3‘ ) A
86435112355.

o1 5. 4)
86435112356. i
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86435112357.

86435112358.

Question Number : 68 Question Id : 8643514118 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x _%, y(0)=0. Then, y| -

equal to :

Options :

2 log, [q—

86435112359.

2

86435112360.

2log. [—

86435112361.

2log, [

86435112362.

e -y

LR 1{11

Question Number : 68 Question Id : 8643514118 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARL S y=y(x) 21 [Esa wilszel

cosx(3sinx + cosx +3) dy=(1 +y sinx(3sinx + cosx + 3))dx, 0 =x :%, y(0)=0 A4l Gid B, dl

[ L R—
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Options :
2 log, [_’%ﬁ 8}
86435112359. .4
2 L::tgE [\ﬁ i W
86435112360. 2
' )
2 log, [m_'g |
A\ B J
86435112361.
it [2@ | mw
86435112362. ¥ R 2

Question Number : 69 Question Id : 8643514119 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(2 sinf 1]
2 —sin —ﬂ x,x#0
\ 'a_x;; . Then fis:

Consider the function f: R — R defined by f(x) = 4
| 0 , x=0

Options :

86435112363 monotonic on (0, =) only

monotonic on ( — =, 0) only
86435112364. 2

86435112365, Monotonic on (— %, 0) U (0, =)

not monotonic on (— =, 0) and (0, =)
86435112366.

Question Number : 69 Question Id : 8643514119 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR B ) EC
a3 BAd f: R - R9A f(x) = {lk_z 5”‘(}];' I, X % 0 ey Bl 3. L £

| 0 , x=0
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Options :
tE =2 b, - S
86435112363, $5d (0, o) W 4’1&-&1\3{1 (monotonic) ©.
: %, 0) we 2isyAl .
s6a3s112364, =0 (7 0) *

86435112365, (~ %/ 0) U (0, =) ‘R 253l ©.

x, 0) 24 (0, =) 4z 2isazl el
86435112366, | < 0) (0 =) ®

Question Number : 70 Question Id : 8643514120 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of
[r] + [2r] + ... + [n1]

lim
T —ox 112 k

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :

86435112367, "

I

86435112368, 2

86435112369, 2F

86435112370. 0

Question Number : 70 Question Id : 8643514120 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

od 1 21 Yz ey vl 4 da [r] 24 r 2@ el Al HenH yels salid dl

- [r] + [21] Iz___ + [nr] -

n—soo n

Options :
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86435112367,

CICH

86435112368.

86435112369, 2F

86435112370. 0

Question Number : 71 Question Id : 8643514121 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Leta computer program generate nnl}-' the digits Dand 1 to form a string of hf_t'lar}-' numbers

with probability of occurrence of 0 at even places be = and probability of occurrence of 0 at

1
the odd place be 7. Then the probability that ‘10 is followed by ‘01" is equal to :

=
Options :

i
86435112371.

1
86435112372. ©

1

=

86435112373,

¥

86435112374, 18

Question Number : 71 Question Id : 8643514121 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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QIRL 5 215 20101 Ulsr 55 2isL 0 a1 glaL el sl vl g Geur 52 6, sl 1y 22

. s T : e 3 N i
Y2 0 il deusAl = & a2 By 22 4R 0 2ueedl Heuddl — 6. dl 10 -l 2wl (017 2ud

d-l eud-L

Options :

86435112371.

86435112372.

86435112373.

86435112374.

2 i

5.

o= O | =

QO |

Question Number : 72 Question Id : 8643514122 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,

then the total number of triangles that can be constructed using these points as vertices, is

equal to:
Options :

86435112375.

86435112376.

86435112377.

86435112378.

360

364

333

240

Question Number : 72 Question Id : 8643514122 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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sd (511 ABC -l “lieg2il AB, BC ct®il CA i idlkd (interior) 2i-s4 3,5 2L 6 [Cig2il 209l €y,

dl 2 [Cg2il ol [RRLCE2I €l da el 5o Bistelil 2ivay 8.
Options :

86435112375, 360

86435112376, 0%

86435112377. 333

86435112378. )

Question Number : 73 Question Id : 8643514123 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x2+ > =25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r2 is equal to :

Options :
125
86435112379, /2

625

86435112380.

/

529

8643511238]1. e

585

86435112382, 0

Question Number : 73 Question Id : 8643514123 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
URL S adn 22 +y2=25 i [Clg R(3, 4) w-l 2uels x-218 2l y-21a L5l P a2 Q i 3ol . st
Gorulotg O wigll v Al Bisedl r o s -5 21 Bsiol OPQ o »idiswg did, dlr? =
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Options :
125
86435112379, /2
625
72
86435112380.
529
86435112381, 4
585
86435112382, 00

Question Number : 74 Question Id : 8643514124 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS;, S, and 5; be three sets defined as

By = lzeCilz—1 E.\E}
S, = {z e C:Re((l-i)z)=1}
S; ={zeC:Im(z) =1}

Then the set S; M 5, 55

Options :

has exactly two elements
86435112383. "

6435112384 has exactly three elements

86435112385, 1S a singleton

R6435112386. has infinitely many elements

Question Number : 74 Question Id : 8643514124 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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BIRL S 381 ABL S;, S, 2 S, 2

S, = zeC: z-1 =+2),

iy
|

» = {2z € C: Re((l-i)z)=1},
S, = {ze C:Im(z) = 1}

UAHLEL AqIfd §. dL AL S; NS, M S,
Options :

26435112383 HL GRIMR o LSl ©.

26435112384, Al Gl 201 H2sl B,

86435112385, 215 H25l4 ©.

86435112386, L MRAVH HESL MAAAL ©.

Question Number : 75 Question Id : 8643514125 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~*sinx. If F: [0, 1] — R is a differentiable function such

that F(x) = t) dt, then the value of | (F'(x)+ f(x))e*dx lies in the interval
0
0

Options :

[ﬂ 2]
86435112387. 360 360
86435112388. S0l 360

[E 3347
86435112389. 360 360.

[E %]

360" 360

86435112390.
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Question Number : 75 Question Id : 8643514125 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

URLS 1R — R 2 f(x)=e “sinx 4 Avdlfbd 8. sd F: [0, 1] — R 21 214l Bsa-dla [ay e, sl

T 1

F(x) = | f(t)dt, l J

{]{F'{xj Ff()e'dy o yed wickid  Hi g 8,
0

Options :

[330 331}
360" 360

'[32? 329}
360 360

86435112387.

86435112388.

Sl 33-—1}

86435112389. [ 360 360

'[335 336}

86435112390, -60 360

Question Number : 76 Question Id : 8643514126 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
The value of > {ﬁf_", . E"CE-, ,_] is equal to :
r=0

Options :

86435112391, 224

86435112392, 1024

9,
86435112393. 1124

86435112394, 1324

Question Number : 76 Question Id : 8643514126 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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B
- El E‘ - =y
e, | e 8.
r= 0
Options :
86435112391, 224

86435112392, 1024

oy
86435112393, 1124

86435112394, 1324

Question Number : 77 Question Id : 8643514127 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

) x+1 ¥y—3 _ z+2 o ) x-2 =g el
line = = and containing the line = = is

ax +py +vyz=24, then a+p +y is equal to :
Options :

86435112395, 21

86435112396, 20
86435112397.

86435112398.

Question Number : 77 Question Id : 8643514127 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+l  y—3 3P

5 - A Hrie Hdl 243 wAlerisl R 2=dl da

sd (445 (2,3, 1) -l 33wl

; | 1 - 1] - -
3 = = T L WBUEdL W Wl ax+ Py +yz=24 €4, dl at+pty =
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Options :

86435112395, 21

86435112396, 20

86435112397 19

86435112398. 18

Question Number : 78 Question Id : 8643514128 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle x> +y*—~2x — 4y + 4=0, such that the
2 412
angle between these tangents is tan" ? , where tan = )€ (0, 7). If the centre of the
h A

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACAB is :
Options :

86435112399, 9 1 4

86435112400.

86435112401.

86435112402, 1114

Question Number : 78 Question Id : 8643514128 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(g P wiall adin 22+ y2 20— 4y +4=04z o uisl 2dl 2d Sl 209 8 5 o2l 24 2u2isl 922l

= . — 12 " . e 12 - r " - - r " - - il
Yol tan 1[?1 U4, sedl tan 1(?1 e (0, ). s Aqurl Sgrd C od EUAAUMHL 249 24 241 293151
; /A \ z

adu (G52l A d2l B 4i ¥, dl APAB 2l ACAB i &B501AL 254 2JRlitR 8.
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Options :

86435112399, 9 1 4

86435112400, = - 1
86435112401, 2 1
86435112402, 1114

Question Number : 79 Question Id : 8643514129 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2tanx = 7' in the interval [0, 2w] is :

Options :

[E]

86435112403.
86435112404
86435112405, 4

86435112406.

Question Number : 79 Question Id : 8643514129 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

@i [0, 2] Ml wwlsrel x + 2 tanx = % Al Giall dva

Options :

2
86435112403. ~

(]

86435112404
86435112405, 4

86435112406.
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Question Number : 80 Question Id : 8643514130 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

t <— =1, then the value of b is equal to :

Options :

(=]

86435112407, 11

4

(=

86435112408.

864351124009.

86435112410, 2

Question Number : 80 Question Id : 8643514130 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 .
S S 3 L = =5 b S -1--_ ] = - r
URLS L 21 wreed y?=4x 20 -l (6, 2) Well 2u2l 30 . od L2 Guaaa - 4 “”1— =1 o oL 2y2ls
F4 0 ke
€, dlbdyedn 08,
Options :

86435112407, 11

86435112408 14
86435112409. o

20
86435112410.

Mathematics Section B

Section Id : 864351276
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351276
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643514131 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

=]

Let I, = | x! (logl¥)™ dx , where n e N. If (20)I,= alq + Blg, for natural numbers o« and B,
n glx) 10= gt Plg
1

then o — 3 equals to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514131 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aRLS I, = ij” (log/x)™ dx, sedin e N. s uiglds vzl o 214 B W2, (20)[j5=aly+ Blg AR,

dl « B=_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514132 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(2n-1)

Let tana, tanp and tany ; o, B, v 2 T ne N be the slopes of three line segments OA,
2

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

] . : 3
and its orthocentre lies on y-axis, then the value of [ cos3a + cos 3 + cos 3y

.
W is equal to
cos w cos 3 cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514132 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ DT e N = 253 291 3L v OA, OB A 0C -
2

YRl % tana, tanf B tany ; o, B,y #
gl 8, sedl O Goi[og B, sd AABC o b=y »i Gopilol 2Bl 2istsi A 21 A dodeg y-218 W

cos 3o + cos 3B + cos 3y

T due 08

2l €1, dl [
COS o COS [5 CoSs 4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If 1, log,,(4*—2) and Ingm{-—ix I 15—31 are in arithmetic progression for a real number x, then
: /

the value of the determinant is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

st AlRdlds Aval x We 1, log, (4 —2) - Iogm(atﬁ;—ﬂ Wiz 2elldi e, di [Raes
z

'
1
2' x —W x—1 3:2
LY 2/' . E{. E.\B
(=
1 0 x 3%
x 1 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514134 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643514134 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

or< [aReL 4 €1 ddl 3n Hvauildl 218l 2Rl dl. 21 el M8 2n Hvilal Heds 6 8 i
ollslHl n HvdiiAl ¥eds 3 9. uddl §35 2n vl 1 GHAl dul cuslHl 225 no vl 1 s
530 245 Adl 2101 LMl 20 5. st Aol 281l [Harel k i, dl 9k =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514135 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] — R be defined as f(x)=ax®+ bx +c for all x ¢[ ~1, 1], where a, b, c € R such

1
that f(—1)=2, f(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is 3 It f(x) = o,

x € [—1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514135 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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MRl S B35 xe[ -1, 1] e f:[-1,1] - R f(x)=axZ+bx+c, sl a, b, ce R Ysrel 21 UGl

cqruqfEid sreMl 20 8 5 o?ll f(—1)=2, f(~ 1) =124 xe (1, 1) 42 f"(x) - HeEriH 3o 5 €

oA f(x) = o, x e [~1,1] €&, cll o] ~drdd™ Y 8.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514136 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
Let the coefficients of third, fourth and fifth terms in the expansion of [1 | ijw ;X7 0, be
: xJ

in the ratio 12: 8: 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514136 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
P a ) : i bz i o Mg 5 i 2 T
Rl 5 [x | —J ,x 2 0+l [SReRerl Hlad, AL 24 Wizl YEHL 1e2)RI5L 12 1 81 3 IRl 2udl

"\ X J

6. ol [Eadzemi x &l 2ads ug £,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 87 Question Id : 8643514137 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

[ min {[x I ﬁ],xz}, I=sx=1
f(x) =4 '

ixnax ‘[wq xz}, = x =<1,

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514137 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

LS f:[-3,1] = R

f(x) jmin {[1‘ + 6), xz}, L f ot g |
J(x) =4
| max Vx, 22}, D=x=1

Yool AN B, o A B y=f{x) 2 -4 gRL ¥Yd &R50 61, dl 6A o Yo 8.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514138 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes

x+y+z=0,Ix—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is

x2 yz t 22=9, then the value of | —n is equal to

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643514138 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4Rl S 2R (O PAL ¥uddl x +y +2=0,Ix —nz=0 2l x — 2y + z=0 2| 2icRlAl Wil #2001 9 &,
od [ P [C5us 22 +y2+22=9 ¢, dll-nqyen ___ ®.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514139 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fat M Fay — M A A
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

s . SN MR A :
vector x is perpendicular to |37 4 2j—k, and its projectionon a is , then the value of
2
2
‘x igequal. e, . o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514139 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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aRl xSl uERl a=2i - j+k @A b= 12/ k A WhAd W uEU B, od Ul 1 W

-

e T, EBTRSS B 0 U i
LA 2w i 17V6 det, ol |7 4 uen 8.

3i+2] ;&_]-“mt—l AR .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514140 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' a | ' «]1 o
Let A = [a ;} and B = [;} ,—L[LJ such that AB=Band a + d=2021, then the value of ad — be
C O

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514140 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e 1 J o : ; ; :
Azl 3 A= r 1] 2l B = {;]:-[”], sdl AB=B 24 a+d=2021. dl ad-be - 4eu
C C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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